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Answer all questions. 2x20=40

Choose the correct option.

1. Wind turbines convert mechanical energy to

(a) light energy
(b) electrical energy

(c) heat energy
(d) Solar energy
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2. Which of the following is a source of non-conventional energy ?

(a) Wind

(b) Natural Gas

(c) Coal

(d) Oil
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. What is tidal power ?

(a) Energy from tides
(b) Energy from water
(¢c) Energy from Moon

(d) Energy from Sun
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. Which of the following types of coal has the most carbon content ?
(a) Bituminous

(b) Lignite

(c) Peat

(d) Anthracite
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. Which of the following can be classified under solid biomass ?
(a) Plastic

(b) Agricultural residues

(c) Waste water

(d) Industrial effluents into rivers
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. Burning of Fossil Fuels Results in —

(a) Increased oxygen level

(b) Decreases greenhouse gases

(c) Increased greenhouse gases

(d) Increased ethane level.
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. A solar cell converts light energy into —

(a) Heat energy

(b) Thermal energy

(c) Sound energy

(d) Electrical energy
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Series and parallel combinations of the solar cell are known as
(a) Solar eye

(b) Solar array

(c) Solar light

(d) Solar sight
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Material used for making solar cell is —

(a) Sodium

(b) Carbon

(c) Silicon

(d) Magnesium
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Full form of FF in the solar field is —
(a) Foam factor
(b) Fill factor

(c) Face factor

(d) Fire factor
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In which state of India largest wind energy farm is located ?

(a) Mabharashtra
(b) Gujrat

(¢) Tamilnadu
(d) Rajasthan
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Solar energy is

source of energy.

(a) Non-Renewable
(b) Exhaustible
(¢) Non-Conventional

(d) Conventional
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13. Coal, a common fossil fuel, is formed from which of the following types of organic matter ?

59,

14.

58.

15.

(a) fresh water algae

(b) bodies of dead animals

(c) marine organisms

(d) tree trunks, leaves and freshwater plants
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All of the following forms of energy can be harvested except —
(a) Solar

(b) Thermal

(c) Piezoelectric

(d) Water
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Piezoelectric effect is

(a) Isotropic
(b) Anisotropic
(c) Large in Magnitude

(d) Dominating

[P.T.O.]



(7)
se. HARERERE g oo

(a) SRAGF
(b) ATRCAGHT
(c) Wz g

(d) wfgsreris

16. The piezoelectric materials used for converting energy are called as

(a) Transition Devices
(b) Converter
(c) Dielectric

(d) Transducer
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17. What happens to wind speed when many turbines operate collectively ?
(a) wind speed increases
(b) wind speed reduces
(c¢) wind speed does not change
(d) wind speed increases exponentially and then decreases linearly
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18. What is the main disadvantage of a horizontal axis wind turbine ?
(a) Easy operation at near ground winds.
(b) Does not self-start.
(c) Difficult operation at near ground winds
(d) High starting torque
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19. Which of the following is a problem with a geothermal resource ?
(a) Noise pollution
(b) Low green house gas emission
(c) Polluting water

(d) Reversing damage to wind life habital
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20. Which of the following pollutants are emitted by the burning of fossil fuel ?
(a) oxides of carbon, nitrogen and sulphur
(b) oxides of carbon, uranium and radium
(c) calcium halides and oxides of nitrogen

(d) noble gases
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